HERTRICH FLEET SERVICES, INC

1427 Bay Road

Milford, DE 19963

Ford - Chevrolet - Dodge - Jeep Lincoln - Honda - Buick - GMC - Toyota - Nissan

(800) 698-9825

(302) 422-3300

Fax: (302) 839-0555

May 18, 2021

City of Hyattsville 4310 Gallatin Street 2nd Floor Hyattsville, MD 20781

Lt. F. DonBullian L-103
Administrative Services Commander

We are pleased to provide this quote for a 2021 Ford Police Interceptor Utility, K8A, priced per Maryland BPO# 001B06001353, and equipped as follows: 3.3L V6 TI-VCT Engine, 10 Speed Automatic Transmission, Rear Door Locks / Windows In-operable, Courtesy Lamp Disable, Daytime Running Lamps, Rear View Camera Display in Rear View Mirror.

1	Code	Description	Amount
	Vehicle	2021 Ford Police Interceptor Utility AWD; 3.3L V6 DI Engine-Type 10-4-M-P	\$32,387
	99W	Hybrid Engine Option	\$3,262
	JS/96	Iconic Silver Exterior - Ebony Cloth Front Buckets & Rear Vinyl Bench	N/C
	500A	All Standard Equipment per PEP 500A	N/C
	BLT	Bluetooth Connectivity	STD
	153	Front License Plate Bracket	N/C
	86T	Rear Tail Lamp Housing Prep	\$60
	18D	Global Unlock	NC
	55F	Remote Keyless Entry	\$340
	(87R)	Rear Camera Display in Center Stack	NC
	51R	Drivers Side LED Spot Light	\$395
		Designated as the "Marked Car"	
	†	Total per Vehicle	\$36,444

Please feel free to contact us with any questions, changes or to place an order.

Respectfully Submitted,

Jim Blecki

"A Member of the HCRTRICH Famil	y of Automobile Dealerships'
---------------------------------	------------------------------

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183091Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS		
NMB	183091Q	Net 30		

SECTION SECTION SECTION AND ADDRESS OF THE PROPERTY OF THE PRO					TOTAL
MARKED 2021 FORD UTILITY POL	ICE INTERCEPT	ror .			
		ZODECE CO	marie:		
LIGHT BAR	Name and Association of the Control	ENGLISH CONTRACTOR	and the same of th	Mystadayahudusmirhadayadi Schi	Tarabas ou in contrade pre-
12 VOLT NFORCE LED LIGHTBAR W/LI //D24/ID12ID12ID12ID12IT18ID12ID12ID12ID12ND2 R_W/IR_WIR_WIR_WIRBWIB_WIB_WIB_WIB_IA-GRT-IGRTIGRTIIOGRTIACLR-IICLRIC-LRIICLRIO-24\ID12ID12ID12ID12IT18ID12ID12ID12IJ12I\ IR_WIR_AIR_AIR_AIRBAIB_AIB_AIB_AIB_AIB_AIB_AIB_AIB_AIB_AIB	IN DSC TECHNO A/ - WI VB_W - IAI AI 24/ / B_W/ - BK08)			2,031.00	2,031.00
Labor per hour for vehicle upfitting	ECCOLO A D SHACONDINHAN		3	95.00	285.00
IMPER CRITICITY			180.5		
mpower(R) 3in. Stud Mount Fascia Light for Ford Grille Mount application, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13,		1	87.50	87.50	
mpower(R) 3in. Stud Mount Fascia Light for application, 18in, hard wire w/ sync option, SA	Ford Grille Mount AE Class 1 & CA		1	87.50	87.50
Labor per hour for vehicle upfitting			2	95.00	190.00
FOG LIGHT AREA	5.340	275 82500		AUSTRALISMO II	CALLEGE
EMPS2STS4E mpower(R) 4in. Fascia Light w/ Stud Mount, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED,		1	186.00	186.00	
mpower(R) 4in. Fascia Light w/ Stud Mount,	18in. hard wire w ; Black Housing,	/ sync 12 LED,	1	186.00	186.00
Labor per hour for vehicle upfitting	20.000.000.000		2	95.00	190.00
ENERGY LINES AND	EDVA STATE	Algun Petter		part a explication part of	
	LIGHT BAR ENFLB004EX-0B7 SOUNDOFF 54" NFOR: 12 VOLT NFORCE LED LIGHTBAR W/LI //D24/ID12ID12ID12ID12IT18ID12ID12ID12ID12ND2 R_W/R_WIR_WIR_WIRBWIB_WIB_WIB_WIB IAI-GRT-II-GRTIGRTII-GRTO-GRT- IAI-CLR-II-CLRICLRII-CLRIO-CLR-I 'D24\D12ID12ID12ID12IT18ID12ID12ID12ID12I/D12ID12ID12ID12ID12ID12ID12ID12ID12ID12I	LIGHT BAR ENFLB004EX-0B7 SOUNDOFF 54" NFORCE LIGHT BAR. 12 VOLT NFORCE LED LIGHTBAR W/ LIN DSC TECHNO. //D24/ID12ID12ID12IT18ID12ID12ID12ID12ND24/ R_W/R_WIR_WIR_WIRBWIB_WIB_WIB_WIB_W IB_W IAI-GRT-II-GRT-IIGRTII-GRT-O-GRT-IAI IAI-CLR-II-CLR-IICLRII-CLR-IID12ID12ID12ID12ID12ID12ID12ID12ID12ID1	LIGHT BAR ENFLB004EX-0B7 SOUNDOFF 54" NFORCE LIGHT BAR 54"/137cm 12 VOLT NFORCE LED LIGHTBAR W/ LIN DSC TECHNOLOGY //D24/ID12ID12ID12IT18ID12ID12ID12ID12D2A// R_W/R_WIR_WIR_WIRBWIB_WIB_WIB_WIB_W W IAI-GRT-II-GRT-GRTII-GRTI-GO-GRT-IAI IAI-CLR-II-CLR-IICLRII-CLR-IO-CLR-IAI VD24\ID12ID12ID12ID12IT18ID12ID12ID12ID12ID12ID12ID12ID12ID12ID12	LIGHT BAR ENFLB004EX-0B7 SOUNDOFF 54" NFORCE LIGHT BAR 54"/137cm 12 VOLT NFORCE LED LIGHTBAR W/ LIN DSC TECHNOLOGY /D24/D12ID12ID12ID12ID12ID12ID12ID12ID12ID12A// R_W/R_WIR_WIR_WIRBWIB_WIB_WIB_WIB_W W W W W W W W W W	ENFLB004EX-0B7 SOUNDIFF 54" NFORCE LIGHT BAR 54"/137cm 12 VOLT NFORCE LED LIGHTBAR W. LIN DSC TECHNOLOGY //D24/ID12ID12ID12IT18ID12ID12ID12ND24/ R_W/R_W/R_W/R_W/R_BW/B_W/B_W/B_W/B_W/B_W IAI-GRT—I-GRT—GRT—O-GRT—I-O-GRT—I-O-IAI IAI-CLR—I-CLR—CLR—CLR—I-O-CLR—I-O-IAI ID24\ID12ID12ID12ID12ID12ID12ID12ID12ID12I/D24/ WR_W/R_A/IR_A/IR_A/IR_A/IB_A/IB_A/IB_A/B_W/ Material - Lexan [126\Id12] Accessories - PNFLBHNDT2 AUTO-DIM Mount - Standard Fixed Height Mount (PNFLBK08) Hook - PNFLBF32 Vehicle - Ford Explorer/PI SUV w/o Roof Rack (2020-21) Notes: 2020 FORD MARKED PIU UTILITY Labor per hour for vehicle upfitting 3 95.00 UPPER GRILLE LIGHTS mpower(R) 3in. Stud Mount Fascia Light for Ford Grille Mount application, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 8 LED, Dual Color - Blue/White mpower(R) 3in. Stud Mount Fascia Light for Ford Grille Mount application, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 8 LED, Dual Color - Red/White Labor per hour for vehicle upfitting FOG LIGHT AREA mpower(R) 4in. Fascia Light w/ Stud Mount, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Blue/White mpower(R) 4in. Fascia Light w/ Stud Mount, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Red/White

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183091Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS		
NMB	183091Q	Net 30		

ITEM	DESCRIPTION	QTY	UNIT COST	TOTAL
	FRONT CORNER HEADLIGHT UNDER COVER			
ELUC3H010R				66.50
ELUC3H010B	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10'5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher Single Color Blue	1	66.50	66.50
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2	2.50	5.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	UNDER MIRROR SURFACE MOUNT LIGHTS	NEW PROPERTY.		
ENT3B3J	Intersector Surface Mount Light, 9-32 Vdc, Black Housing, 18 LEDs, Dual Color - Red/Blue	2	149.00	298.00
PMP2BKUMB3-P	Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2021 for use with mpower(R) 3" and 4" Stud or Quick Mount and Intersector Surface Mount - Passenger Side	1	12.00	12.00
PMP2BKUMB3-D	Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2021 for use with mpower(R) 3" and 4" Stud or Quick Mount and Intersector Surface Mount - Driver Side	1	12.00	12.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	PROFILE LIGHTS	(Allowed States)		
ENFSGS3J	nFORCE(R) Single Deck/Grille Mount Light, SAE Class 1, 10-16v, Black Housing, 12 LED, Dual Color - Red/Blue	2	107.00	214.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	TAIL LIGHT UNDER COVER LED	entantinh		
ELUC3H010R	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher Single Color Red	1	66.50	66.50
ELUC3H010B	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher Single Color Blue	1	66.50	66.50
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2	2.50	5.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00

Subtotal

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183091Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS	
NMB	183091Q	Net 30	

		MMD	103091Q		2 30	
ITEM	DESCRIPTION			QTY	UNIT COST	TOTAL
	REAR DECK LIGHTS		color with	e = 11.1		
ENFSGS3J	nFORCE(R) Single Deck/Grille Mount Light, SAE Class 1, 10-16v, Black Housing, 12 LED, Dual Color - Red/Blue			2	107.00	214.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	and the control to the		2	95.00	190.00
	INTERIOR HATCH LIGH	TS		2000	AND CAMPAGE A	
EMPS1QMS3J	mpower(R) 3in. Fascia Light w/ Quick Mou option, SAE Class 1 & CA Title 13, 9-32 Vo Dual Color - Red/Blue			2	87.50	175.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting		era vas arko	2	95.00	190.00
	SIREN & SPEAKER				A CALCADA A CALLADA	
ETSA481RSP	nERGY(R) 400 Series Remote Siren w/ But 100 watt speaker			1	455.50	455.50
ETSS100N	100N Series Composite Speaker w/ Universa	al Bail Bracket -	100 watt	1	145.00	145.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting			4	95.00	380.00
	RADIO INSTALL					
CUSTOMER ITEM	Customer Provided Part 6 - Motorola APX7500 Radios, mics, speaker, & cables provided by customer.				0.00	0.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting		Starte for	3	95.00	285.00
	SHARKEE ANTENNA					
NEW ITEM TSH-Hyattsville-001 Sharkee antenna Kit will connect: 1X 7/800 radio moto 2X arbitrator wifi 1X arbitrator gps				1	304.00	304.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting			1	95.00	95.00
	MDT CONSOLE & DOCK					SECTION AND ADDRESS.
AS4.C237.501	2021 INT SUV CONSOLE Includes cost of armrest/cupholder, and face plates/blanks to fill			1	422.00	422.00
MMSU-1	Magnetic Mic Single Unit, 1 Single Unit Conversion Kit includes: One (1) magnetic base piece, One (1) slotted metal disc adapter, A set of mounting hardware, Hex key, Installation and safety instructions			1	27.00	27.00
NEW ITEM	ARBITRATOR MIC POCKETPMT			1	40.00	40.00
		# and		Sub	total	

TAX ID: 81-5162515

QUOTE

DATE	QUOTE #
5/18/2021	183091Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS
NMB	183091Q	Net 30

ITEM	DESCRIPTION	QTY	UNIT COST	TOTAL
AS4.F112.015-4	3"X2"X7" OPEN JUNK BOX 3" TOP PL3" Plate. 3" Deep	1	48.00	48.00
NEW ITEM	ACCESSORY POCKET PMT	1	50.00	50.00
AS9.C130.201	GPS CF31 SPT SPRING TILT DOCK PKG INCLUDES: AS7.P031.101 CF31 SPT DOCK, AS7.P031.011 CF31 SPRING TILT, PA1580-1745 PANA 120W POWER SUPPLY		879.00	879.00
AS4.S100.023	SLIDE RAIL PLATE W SPACER	1	18.60	18.60
	ARMREST PRINTER SIDE MOUNT			
AS5.A500.017	SIDEMOUNT ARMREST PRINTER includes AS5,A500.015 on sidemount bracket, breakaway	1	234.00	234.00
PJ723	PocketJet 7 300dpi Thermal Printer with USB (Only includes the printer. Requires power, USB cable, and printing supplies)	1	386.10	386.10
3320G	3320G Vuquest 2D Barcode Imaging Kit for Maryland E-TIX. Includes Scanner with L-Tron Custom Driver's License Scanning	1	291.00	291.00
LB3692	Brother PocketJet Car Adapter, Hard Wired, 12 Volt Power, 14'	1	18.00	18.00
LB3603	Brother, 10' USB Cable		10.80	10.80
27402	#27402 11in 4-Port USB 2.0 Hub Cable		17.11	17.11
52107	#52107 2m USB 2.0 A Male to A Female Extension Cable - Black	1	3.10	3.10
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	5	95.00	475.00
	ARBITRATOR CAMERA SYSTEM	Marian Maria		4 570 00
NEW ITEM	ARB-KIT-HDVC35 PANASONIC: Arbitrator MK3,HD Camera, 256SSD, Wireles 1 integrated option 1 yr software included, internal G force sensor.	1	4,579.00	4,579.00
NEW ITEM	Arb-M24 2.4 GHz Wireless Microphone	1	515.00	515.00
NEW ITEM			620.00	620.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	6	95.00	570.00
STATE OF THE PROPERTY OF THE PARTY OF THE PA	INSTALL KIT	SI MUNICIPALITY OF THE PARTY OF		
INSTALL KIT	Vehicle Mounting Installation Kit: Wiring Harness, Mounting brackets, and associated material and equipment for install. All freight & shipping	1	433.00	433.00
7616-1001B	Dual Time Delay	1	79.20	79.20

Subtotal

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183091Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS		
NMB	183091Q	Net 30		

DESCRIPTION	QTY	UNIT COST	TOTAL
LUND LOFT ELECTRONICS TRAY			
J20-EC 20+ Ford Police Utility/Explorer Loft Electronic Equipment Tray - Interior Dimension 16.5" x 40" LOFT-PIU20-EC Includes removable stand-off electronics installation platform, allowing "bench" prep prior to installation. (Optional Accessories Available)		640.00	640.00
Labor per hour for vehicle upfitting	2	95.00	190.00
3 - PRO-GARD PRISONER TRANSPORT SYSTEM			1,489.25
S4705UINT20OSB Standard Transport Seat w/7 Ga. Steel Screen Window Cargo Barrier, and Outboard Seat Belts. Ford Utility Intercentor 2021			
Passenger Sliding Poly Window, Ford Utility Interceptor 2021, Includes Recessed Panel and Lower Extension Panels	1	772.63	772.63
WB47NPUINT20 Pair, Steel Window Bars (for use with O.E.M. door panels only), Ford			217.00
Installation	6	95.00	570.00
LUND STORAGE BOX	BORNOTE INV		
locking flush trigger lever latches opposed to the original single simplex lock. The SSTB-2042-ECO dimensions are the same at 20"D x 42"W x 9"H and uses the same HD slides and constructed of steel. The raised mount 20" x 42" vault allows easy access to the spare tire and	1	1,127.48	1,127.48
Optional Cargo Rail Kit. The cargo rails come separate and not attached on the boxes and need to be fastened to the top of the boxes at time of installation.	1	127.37	127.37
Installation	2	95.00	190.00
DECALS	Marian	MATERIAL PROPERTY.	EL POSTO
Decal Kit: Vehicle Full Decal Kit to include roof top numbers, lettering and install.: INSTALL OF 3M REFLECTIVE MATERIAL FADE. LETTERING, NUMBERS,	1	928.00	928.00
	20+ Ford Police Utility/Explorer Loft Electronic Equipment Tray - Interior Dimension 16.5" x 40" LOFT-PIU20-EC Includes removable stand-off electronics installation platform, allowing "bench" prep prior to installation. (Optional Accessories Available) Labor per hour for vehicle upfitting 3 - PRO-GARD PRISONER TRANSPORT SYSTEM Standard Transport Seat w/7 Ga. Steel Screen Window Cargo Barrier, and Outboard Seat Belts, Ford Utility Interceptor 2021 Passenger Sliding Poly Window, Ford Utility Interceptor 2021, Includes Recessed Panel and Lower Extension Panels Pair, Steel Window Bars (for use with O.E.M. door panels only), Ford Utility Interceptor 2021, Installation LUND STORAGE BOX The SSTB-2042-ECO is an economical version that utilizes two keyed locking flush trigger lever latches opposed to the original single simplex lock. The SSTB-2042-ECO dimensions are the same at 20"D x 42"W x 9"H and uses the same HD slides and constructed of steel. The raised mount 20" x 42" vault allows easy access to the spare tire and provides space for equipment under the vault. Optional Cargo Rail Kit. The cargo rails come separate and not attached on the boxes and need to be fastened to the top of the boxes at time of installation. Installation DECALS Decal Kit: Vehicle Full Decal Kit to include roof top numbers, lettering	20+ Ford Police Utility/Explorer Loft Electronic Equipment Tray - Interior Dimension 16.5" x 40" LOFT-PIU20-EC Includes removable stand-off electronics installation platform, allowing "bench" prep prior to installation. (Optional Accessories Available) Labor per hour for vehicle upfitting 2 3 - PRO-GARD PRISONER TRANSPORT SYSTEM Standard Transport Seat w/ 7 Ga. Steel Screen Window Cargo Barrier, and Outboard Seat Belts, Ford Utility Interceptor 2021 Passenger Sliding Poly Window, Ford Utility Interceptor 2021, Includes Recessed Panel and Lower Extension Panels Pair, Steel Window Bars (for use with O.E.M. door panels only), Ford Utility Interceptor 2021, Installation 6 LUND STORAGE BOX The SSTB-2042-ECO is an economical version that utilizes two keyed locking flush trigger lever latches opposed to the original single simplex lock. The SSTB-2042-ECO dimensions are the same at 20"D x 42"W x 9"H and uses the same HD slides and constructed of steel. The raised mount 20" x 42" vault allows easy access to the spare tire and provides space for equipment under the vault. Optional Cargo Rail Kit. The cargo rails come separate and not attached on the boxes and need to be fastened to the top of the boxes at time of installation. Installation DECALS Decal Kit: Vehicle Full Decal Kit to include roof top numbers, lettering	20+ Ford Police Utility/Explorer Loft Electronic Equipment Tray - Interior Dimension 16.5" x 40" LOFT-PIU20-EC Includes removable stand-off electronics installation platform, allowing "bench" prep prior to installation. (Optional Accessories Available) Labor per hour for vehicle upfitting 2 95.00 3 - PRO-GARD PRISONER TRANSPORT SYSTEM Standard Transport Seat w/ 7 Ga. Steel Screen Window Cargo Barrier, and Outboard Seat Belts, Ford Utility Interceptor 2021 Passenger Sliding Poly Window, Ford Utility Interceptor 2021, Includes Recessed Panel and Lower Extension Panels Pair, Steel Window Bars (for use with O.E.M. door panels only), Ford Utility Interceptor 2021, Installation 6 95.00 LUND STORAGE BOX The SSTB-2042-ECO is an economical version that utilizes two keyed locking flush trigger lever latches opposed to the original single simplex lock. The SSTB-2042-ECO dimensions are the same at 20"D x 42"W x 9"H and uses the same HD slides and constructed of steel. The raised mount 20" x 42" vault allows easy access to the spare tire and provides space for equipment under the vault. Optional Cargo Rail Kit. The cargo rails come separate and not attached on the boxes and need to be fastened to the top of the boxes at time of installation. Installation DECALS Decal Kit: Vehicle Full Decal Kit to include roof top numbers, lettering 1 928.00

Subtotal

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183091Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 **United States**

REP	QUOTE#	TERMS
NMB	183091Q	Net 30

		NMB	183091Q	l N	let 30	
ITEM	DESCRIPTIO	N		QTY	UNIT COST	TOTAL
CONTRACTS-MD	MARYLAND State Contracts: MD State DOIT - Hardware and Associated Associated Equipment 2012 - Master Contracts MD State DOIT - Desktop, Laptop and Tab BPO# 060B5400007 MD State DGS - Police Vehicle Equipment Systems & Lighting 2017 - BPO# 001B840	d Equipment and Seact BPO# 060B24! olet 2015 - Master (& Emergency Veh	90022 Contract	1	0.00	0.00
				Sub	total	\$23216.14

THANK YOU FOR USING GLOBAL, WHERE "DETAILS MAKE THE DIFFERENCE"

Tax, if applicable, is not included.

Vehicles will be invoiced within 15 days of communication of job completion, whether picked up or not. All parts do-installed or removed from vehicle(s) must be removed at time of drop-off. Parts not picked up will be recycled or shipped at your expense. Arrangements for packing and shipping must be arranged at time of order. Handling charges apply. 25% re-stocking fee applies to forms after 15 days from receipt. No returns on special orders.

TOTAL \$23,216.14

EMAIL SIGNED QUOTES TO SALES@GLOBALPUBLICSAFETY. 1 ...

QUOTE ACCEPTED BY SIGNATURE & DATE:

Page 6